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General Instructions:  
 

1 This question paper contains 34 questions. All questions are compulsory. 
2. Marks are indicated against each question.  

3. Questions 1 to 20 carries 1 mark each.  
4. Questions 21 to 26 carries 3 marks each.  

5. Questions 27 to 29 carries 4 marks each. 
6. Questions 30 to 34 carries 6 marks each.  

 

Qn.  
No 

 Marks  
allocated 

1 (b) Profits show a trend    1 

2 (d) No interest can be charged 1 

3 (b) ₹1,250 1 

4 (a) ₹720  1 

5 (C) ₹54,000                                1 

6 (c) 7:5:4   1 

7 (a) Increase in value of asset  1 

8 (a) X sacrifice 2/24; Y sacrifice 1/24; Z Gain 3/24 
 

1 

9 (c) Cr. X by ₹15,000: Dr. Z by ₹15,000 1 

10 (c) ₹ 96,000                                    1 

11 (c) Current account of new partner  
 

1 

12 (b) ₹16,000 1 

13 (d) Profit and Loss Suspense Account  
 

1 

14 (b) Realisation Account  1 

15 (c) Dr. A's Capital A/c and B's Capital A/c by 1,35,000 each; Dr.  
     C's Capital A/c and D's Capital A/c by ₹90,000 each, Cr  

     Goodwill A/c by ₹4.50,000 

 

1 

16 (b) ₹6,00,000; ₹4,00,000 and ₹2,00,000 
 

1 

17 (d) A is false but R is true 1 

18 (a) Credited to all partner’s capital accounts in old ratio 

 

1 

19 (b) ₹1,500  1 

20 (c) 5:3 1 
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21 Deficiency borne by Pinki and Deepti 500 each. 
Profit & Loss Appropriation Ac    Dr. 40,000 

     To Pinki’s Capital A/c                             19,500 
     To Dipthi’s Capital A/c                            15,500 

     To Kaku’s Capital A/c                               5,000 
 

 
 

3 

22                      Journal Entries 
Mitha’s Capital A/c                 Dr. 15,000 

Gopal’s Capital A/c                 Dr. 10,000 
Farhan’s Capital A/c               Dr. 5,000 

   To Advertisement expenses a/c                    30,000 
(Being Advertisement expenses A/c written off in old ratio)    

   
Reserve a/c                            Dr.  9,000   

  To   Mitha’s Capital A/c                                 4,500 
  To Gopal’s Capital A/c                                   3,000 

  To Farhan’s Capital A/c                                  1,500 
(Being Contingency reserve A/c distributed in old ratio)   

   

Farhan’s Capital A/c               Dr.  16,000 
  To Gopal’s Capital A/c                                   16,000 

(Being capital of gainer and sacrificer’s capital a/c adjusted with 
their share of goodwill in gaining and sacrificing ratio) 

 S.R of Mita = 0, Gopal 2/60 and Farhan = Gain 2/60  
  

3 

23 

 
 

3 

24 G/w = SP X No. of years Purchase,  24,000 = SP X 4, SP =6,000 
NP = Capital Employed X NRR/100, CE =100000-30,000=70000  

NP = CE X 10/100, NP = 70,000 X 10/100 = 7,000 
SP = AP – NP, 6,000 = AP – 7,000, AP = 6,000 +7,000 = 13,000 

 

3 

25 

 

3 



X I I _ A C C O U N T A N C Y _ T E R M 1 _ Q U E S T I O N  P A P E R                    P a g e  3 | 6 

 

26 Percentage of Profit on Sales = 1,50,000 x100 /6,00,000 = 25% 
Profit up to the date of death= 2,50,000 x 25% = ₹62,500 

Chirag’s Share in this Profit = 62,500 x 1/5 = ₹12,500 
                              Journal Entry 

Profit & Loss Suspense A/c Dr.     12,500 
To Chirag’s Capital A/c                             12,500 

(Being Chirag’s share in profit transferred to his capital account) 
 

3 

27 Total capital of Firm= 60,000 / 1/4 = 60,000 x 4/1 = 2,40,000. 

Actual Total capital =50,000+50,000+60,000= 1,60,000. 
G/w=2,40,000-1,60,000=80,000.Premium=80,000x1/4= 20,000 

Cash a/c                   Dr.      80,000 
     To C’s Capital account                       60,00 

     To Premium for Goodwill                    20,000 
Premium for Goodwill  Dr  20,000 

     To A’s Capital a/c                     10,000 
     To B’s Capital a/c                     10,000 

 
 

 

4 

28 

 
 

(iv)  Karthik’s Loan a/c                                 Dr. 12,000 

        Realisation A/c                                     Dr.      500 
                To Bank                                                        12,500 

4 

29                                  Journal Entry 
Wahid's Capital A/c                       Dr. 2,000 

                To Shahid's Capital A/c                   2,000 
(Being adjustment of interest on capital, which was not credited) 

 

                                   Wahid        Shahid            Total 
Interest to be allowed  +4,000         +8,000          12,000 

Profit wrongly credited (-)6,000       (-)6,000     (-) 12,000 
 

Adjustment                (+)2,000        (-)2,000            NIL 

4 
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30 Profit & Loss Appropriation Account 

    

To Salary 

     B            16,000 
To IOC: 

     A            40,000 
     B            30,000  

To Profit transferred 
to Capital a/c: 

     A           24,480 
     B           16,320 

 

16,000 
 

 
 

70,000 
 

 
  40800 

126800 

BY Net Profit b/d 

By IOD: 
         A       600 

         B    1,200 

1,25,000 

 
 

    1,800 
 

 
 

 
 

1,26,800 

Capital Accounts 

     A       B       A     B 

To Drawing 

To IOD 
To Bal c/d 

 18000 

    600  
445880 

36000 

1200 
325120 

By Bal b/d 

By Salary 
By IOC 

By P & L Ap 

400000 

 
 40000 

 24480 

300000 

 16000 
 30000 

 16320 

 464480 362320  464480 362320 

   By Bal b/d 445880 325120 
 

6 

31                          Sudha’s Capital Account 

    

To Executor a/c 2,18,750 By Balance b/d 

By H’s Capital 
By A’s Capital 

By P & L Suspense 
By P & L a/c 

100000 

56000 
14000 

8750 
40000 

 2,18,750  2,18,750 

 
Working Notes: 

Goodwill: Average Profits = 60000+80000/2=70000 
Goodwill of firm=70,000X2 = 1400000,  

G/w of S=140000X5/10 = 70,000 
H to S =70,000X4/5 = 56,000, A to S = 70000X1/5=14,000 

Share in Profit 
=70,000X3/12X5/10 = 8750 

 

 

6 
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32 

 

 
 
 

 
 

 
 

 
 

 
 

6 

33 Realisation Account 

To Assets: 
  L & Build 600000 

  Debtors  310000 
  Stock     200000 

To Bank 
  Creditors  105000 

To Sona’s Capital 

(Remuneration) 
 To Loss transfer to 

Capital a/c 
   Mona        9,200 

  Sona        13,800 

 
 

 
1110000 

 
105000 

20,000 

 
 

 
 

23,000 

By Liabilities: 
   Creditors 210000 

   PBDD        10000 
By Bank: 

   Stock        90000 
  Debtors    248000 

   L & Build 700000 

 

 
 

2,20,000 
 

 
 

1038000 

 
 

 
 

 1258000  1258000 

 

 
 

 
 

6 
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34 

 

6 

 THE END  
 


